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Mr. Doroquez
Revenge of the Proofs

Write two-column proofs for the following. Make sure to number each step.
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1) Given: AD|ME; MD|BE 3) Given: RS=RT
M is the midpoint of AB Prove: Z3=/4
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4) Given: BD||CE, 5= /6

2) Given: LM=LN; KM=KN brove: RO o aE C
KO bisects ZMKN rove: =
Prove:  LObisects ZMLN
A \
D
A SIRN o BoII7E ¢miry B
@ & :7_;",5/ GrEA @ ¢5 =tk GruEN
() £ b LN i;’.;’y (P L5 = race cd
@ IE = e @ ce Zrael cA _
O Lk &) M Ty @ V.1 ;”4? Converse Base Angles Th

D 20 pis sl Pel. of L Brechhe



CA=CE, BA=DE

5) Given: MN=z=QP, ZN= /P 7) Given:
Prove: ZOMQ = Z0QM Prove: ZABE = ZEDA
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LIWX = LYXW, LZXW = LYWX

6) Given:
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8) Given: AD= —EB, D is the midpoint of BF

Prove: AADC = AEDG
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ER =IT, ET=IR, ZTDI & /ROE

9) Given: I
are right angles.
Prove: TD=RO
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10) Given: E is the midpoint of AC and DB 11) Given: AB=DC , E is the midpoint of AD ;
Prove: AGED = AJEB CE=BE

Prove: AC=DB
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